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QUESTION 1

An application must validate postal codes for Canadian customers to match the pattern A1A 1A1, where A represents a
letter and 1 represents a number. Which two configuration options allow you to ensure that a user provides a valid
postal code? (Choose two.)

A. Configure a drop-down control to select the postal code based on the specified city and province.

B. Configure an edit validate rule to test that the entered postal code conforms to the required pattern.

C. Configure the postal code field as a text property with a required input field.

D. Configure a validate rule to test that the entered postal code conforms to the required pattern.

Correct Answer: AB

QUESTION 2

In an application for configuring hardware equipment for new employees, the manager chooses a laptop model from a
drop-down list. The list of available laptop models is maintained in an external system and may change over time. Which
of the following do you use as the data source for this drop-down list?

A. A data page

B. A local list

C. A data table

D. A data transform

Correct Answer: A

QUESTION 3

To qualify for an instant loan, an applicant must earn a monthly income of at least GBP2000 and cannot exceed
GBP20000 in total liability. How do you enforce these restrictions when requesting an instant loan?

A. Use a Validate rule to call two Edit validate rules: one for income and one for liability.
B. Use a single Validate rule with two conditions: one for income and one for liability.

C. Use Ul controls to validate the entries in the income and liability fields.

D. Use two Edit Validate rules: one for income and one for liability.

Correct Answer: B

QUESTION 4
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An organization has two lines of business: selling books for children and reselling college textbooks.

The division selling books for children can use the same basic user interface (Ul) as the division reselling textbooks with
the exception of the payment methods.

How do you apply the Situational Layer CakeTM in this scenario?
A. Place the Ul rules in the base layer, and create a new layer for the payment rules for both lines of business.

B. Place the Ul rules and generic payment method rules in the base layer, and create a new layer for the division-
specific payment rules.

C. Place the Ul rules in the base layer, and create a parallel base layer for the payments rules.
D. Place the Ul rules in the base layer, and create a new layer for the payment rule for each division.

Correct Answer: B

QUESTION 5

A customer calls to apply for a new bank account. The customer service representative (CSR) needs to perform an
assignment named Select Account Type. During the discussion, the customer can request written information regarding
different account types.

Select the case lifecycle design that satisfies this requirement.

A. Add a user view for requesting information to the Select Account Type assignment.

B. Add an optional action to the stage that contains the Select Account Type assignment.

C. Add a case-wide optional action.

D. Add a router to the Select Account Type assignment.

Correct Answer: B
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